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QUESTION 1

Which statement is true about security rules for Database Deployments? 

A. They are used only for configuring external server access to Database Deployments and do not impact how security
lists communicate. 

B. They define a specific communication path, which consists of a source, destination, and protocol-port combination
over which communication is allowed. 

C. They are used to map an external user to a database user to allow the user to communicate with and access the
database. 

D. They are used to encrypt communication between Database Deployments. 

Correct Answer: B 

Explanation: On the Access Rule you can define the following: 

Source 

Hosts from which traffic is allowed. Possible values are DB, PUBLIC-INTERNET, or a custom value in 

the form of an IP address. Destination 

Security list to which traffic is allowed. This will be DB, the ora_db security list for the deployment. Ports 

Port or range of ports for the rule. 

References: https://docs.oracle.com/en/cloud/paas/database-dbaas-cloud/csdbi/service-console-accessrules-page.html 

 

QUESTION 2

There are two ways to enable a port to a Database Deployment. The first requires access to the Oracle Compute Cloud
Service Console to open the ports to a set of IP addresses. The second is to create a tunnel for port forwarding by using
SSH. 

Which statement is true about port forwarding by using SSH? 

A. The SSH tunneling the configured SSH process must be running on the consumer side of the tunnel. 

B. The SSH tunneling the configured SSH process must be running on the instance side of the tunnel. 

C. The SSH tunneling to access the Database Deployment database via SQL Developer or SQL*Plus must be
configured to port 1522. 

D. The SSH tunneling to access the Database Deployment database via APEX must be configured to port 8080. 

Correct Answer: A 

Explanation: Incorrect Answers: 

C: SQL Developer or SQL*Plus must be configured to port 1521, not port 1522. 
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D: APEX use port 443. 

 

QUESTION 3

Which two statements are true about the Database Deployments and Oracle database instances that are provided by
Oracle Public Cloud? 

A. A Database Deployment requires customers to install any additional management tools for their environment. 

B. A Database Deployment never provides a pre-created Oracle database software. 

C. An Oracle database instance that is provided as part of Oracle Database Cloud Service runs the same executable
that would be run with the same version and release of Oracle Database on private premises. 

D. A Database Deployment always provides a customer-selected version of the Oracle database software. 

E. Only one Oracle database instance can run in a Database Deployment on Oracle Public Cloud. 

Correct Answer: CD 

Explanation: 

D: The wizard\\'s Software Release page is used to select the Oracle Database software release that you want to run on
your instance. 

On the Software Edition page select the Oracle Database software edition that you want to run on your instance. 
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References: http://www.oracle.com/webfolder/technetwork/tutorials/obe/cloud/dbaas/
obe_dbaas_creating_an_instance/obe_dbaas_creating_an_instance.html 

 

QUESTION 4

What are two things can you do on the My Services Dashboard page? 

A. You can customize the metric icon for each valid service. 

B. You can add a data center and identity domain to your Cloud account. 

C. You can activate services for the current data center and identity domain. 

D. You can check the overall status of your active services for the current data center and identity domain. 

Correct Answer: CD 

Explanation: 

The My Services Dashboard shows information limited to one identity domain in your account. 

References: Using Oracle Database Cloud Service (February 2017), page 8-26 

https://docs.oracle.com/en/cloud/paas/database-dbaas-cloud/csdbi/using-oracle-database-cloudservice.pdf 

 

QUESTION 5

Which users are created and can be used for database and host management of your DBaaS database servers? 

A. root, opc and oracle users 
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B. root, oracleand cloud users 

C. root and oracle users 

D. opc and oracle users 

E. cloudand oracle users 

Correct Answer: D 

Explanation: 

Linux user accounts that are provisioned on an Oracle Database Cloud Service deployment that hosts an 

Oracle Real Application Clusters (Oracle RAC) database: 

* opc 

The system administrator account you use to connect to the compute node using SSH. This user can use 

the sudo command to perform operations that require root-user access. 

* oracle 

The Oracle Database administrator account you use to access the system and perform non-root database
administration tasks. 

*

 grid The Oracle Grid Infrastructure administrator account you use to perform ASM, ACFS, and clusterware
administration tasks. 

*

 root The root administrator for the system. You do not have direct access to this account. To perform operations that
require root-user access, use the sudo command as the opc user. 

References: https://docs.oracle.com/en/cloud/paas/database-dbaas-cloud/csdbi/linux-user-accountsrac.html 
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